PROF :Chelghoum Med - 02SE

e AL as 5 5_3,,1/)':

2019/2018: 5L 7 A1 Ll ot o ) s o2”
< < o o
:@y@@/ﬁ@@ﬁﬁﬁ&ﬂﬁ@fﬁyﬁ
I RS
diss60: 8 a’\,g:/."(;“oz:d;""

Co
of IS
g(x)— 1)f(ac) x2-2x+2 : u‘\’ \S" DFQL;AS«OU\;g)f

(O l]) u.u\:w) )w\.a.ﬂ‘.\m&\uﬁnhéf.&\&du\ \.W(Cg)j(Cf) ﬁ)
i Je g 5 £ o B s 559eg Dy 5 Dy y5 /1

f@)=(x+a)+b :x%?lﬁbao&f&k\dﬁdg%b)a&@\dsﬁ\@; A
Mg v g s ST 1 7 RIS L
- BUS Jpaor S [ b0l 5 1-c0,11 U (e 8 o £ A s ol2) g o
(Cp) ol oy Bl 2o (0 2%) e A Jl (P) gl e B
- (€Cp) gl (“"J LB
glx) = 1+— \M.}Sx#lw&)w‘fd"\ d“ \ /3
(O,L,J) M3 (1) gl ol il 0 53
(Q;Z;f) (\'\Sl\é(Cg) 6.».«1\ Jales »(..,(.\a.\\mju\_w;y
(€ gl )
h@) =1f @I+ o= b B LAI(Cp) gl (,.uj\ (Cp) gl byl /4
@ =g  Aslall Yo Wl po /5
(E):x3—3x%+3x—2 :aﬁm\xqgg;;;\ Joet! o3 Aokl R Aegast) (3 A /6
(B) (S £x) = g(0) Dol R— (1) o x i 508 8 Jol o & gy |
P85+ 8x-2 = (- Dax? +bx+c) 1 350t 0,b,a Akl slasVl g
flx) = gx) 1\33\;1\ Jed t_w\ (u (B) As\al| Jo . >

U)d’f’t 2as.encysedudbtion.com ##—10





